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B.Com. {Gen./Voc.) EXAMINATION
(For Batch 2017 & Onwards)
(Fifth Semester)

FINANCIAL MANAGEMENT
BC-5.1

Time : Three Hours _ Maximum Marks : 80

Note : - Attempt Five questions in all, Selecting at
“least one question, but not more than two

from each Unit. Q. No. 10 is compulsory.
Unit I

1. "The wealth maximisation objective provides
appropriate criteria for proper financial decision

making." Explain. 15
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What is over-capitalisation ? What are its
causes ? Explain briefly the effects and

remedies of Over-Capitalisation. 15

A company is considering  an - investment
proposal to purchase a machine costing
< 50,000. The machine has a life expectancy
of 5 years and no salvage value. The company's
tax rate is 35%. The company uses straight
line method for providing depreciation. The

estimated cash flows before depreciation and

tax from the machinc are as follow : 15
Year CFBT
3
1 10,000
2 10,692
3 12,769
4 13,462
5 20,385
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Compute the following : ‘

@) Average rate of return

(i) Payback Period

(iii) Net Present Value at 10% discount rate

(iv) Internal Rate of return

[Discount factor at 10% are 0.909, 0.826,

0.751, 0.683, 0.621,, for 1 to 5 years]

Unit I

Write notes on the following : 5x3=15
(a) Debentures

(b) Difference between Equity Shares and
Preference Shares

(c) Lease Financing

A company's after tax specific cost of capital

are as follows : 15
Cost of Debt 10%
Cost of preference Shares 12%
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7. What i

. 15%
Cost of Equity Shares ()
The following is the capital structure :
' 4
Source
Debt 3,00,000
¢
i ,000
Preference Share Capital . 2,00
l i ,000
Equity Share Capital 5,00
10,00,000
oAbl

Calculate the weighted average cost of capital.

What is Net Income approach of capital

structure ? Explain it with a diagram and an

appropriate example.

Unit I

influencing the dividend policy.

15

s dividend policy ? Explain the factors
15

8. From the following information taken from

the books of a manufacturing concerns,

compute the operating cycle in days : 15
Period covered 365 days
Average period of credit allowed :
by suppliers .38 . 18 days
|  in '000)
Average Debtors Outstanding 490
Raw material consumption 4,500
Total. production cost . 11,000
Total cost of sales ‘ 11,500
Sales for the year ‘ 20,000

Values of average stock maintained :

Raw Material 350
Work-in-Progress 380
Finished Goods 270
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9. What do you understand by cash budget ?
What is its utility ? Explain the methods of

preparing cash budget in brief,
- Compulsory Question

10. (a) Financial Forecasting
() Risk adjusted discount rate
(¢) Trade Credit
(d) Financial levérage

(e) Economic Order quantity 5x4=20
(Hindi Version)
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